Easter Coordinates

What Easter image is at the following coordinates?

(3,1) = (6,3) =
(3,4) = (6,6) =
(51) = (2,2) =
(1,1) = (4,3) =
(3,6) = (1,5) =
(1,3) = (5,5) =
Easter eggs church flowers
lamb chick bonnet
hot cross bun chocolate basket
daffodils Easter bunny bluebells
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(3,1) = bluebells
(3,4) = hot cross bun
(5,1) = chocolate
(1,1) = chick

(3,6) = flowers

(1,3) = daffodil

Easter Coordinates Answers

(6,3) = Easter eggs
(6,6) = lamb

(2,2) = basket

(4,3) = Easter bunny
(1,5) = bonnet

(5,5) = church




